HARKRFERERLEE L —X (2019438221)

L —X No. 3
LW1X FiE1E 11:00
[[[=tiva L—> EF 777 500m | 1000m | 1500m | 2000m |Progression
1 4 R &#= A HE D 01:53.23(03:51.28 05:50.63 | 07:50.86| -> SF A/B
2 3 AR BHiE KT 01:54.01(03:54.31|05:58.44|08:06.14| ->SF A/B
3 5 BEHE EhE BfHEXE 01:57.17(04:01.40| 06:06.80| 08:11.62 ->R
4 6 A& B AL BEHE 01:54.50(03:59.15| 06:06.12| 08:11.64 ->R
5 2 Eit &K RERE 02:01.73(04:09.24 | 06:18.64 | 08:31.24 -> R
L —X No. 4
LW1X FE24H 11:10
[[=iva L—v NS 027 500m | 1000m | 1500m | 2000m | Progression
1 2 L BE=X Ty — 01:54.99(03:53.04 | 05:52.72|07:52.82| ->SF A/B
2 1 =5 E BRKF 01:56.29(03:57.21 | 05:58.64 | 08:01.99| ->SF A/B
3 4 TH BE BfEEXZE 02:00.32(04:02.23 06:06.20| 08:09.38 -> R
4 6 ‘AR RF FazgE=E 01:58.18(04:01.32 | 06:07.0208:13.31 ->R
5 3 mAa ZER BEEXERZE 01:59.51(04:04.43106:10.05| 08:13.74 ->R
6 5 TE BE BAKRE 02:01.13(04:06.83|06:13.66 | 08:21.26 ->R
L —X No. 5
LW1X Fi&E35E 11:20
= iva L—v EF 777 500m | 1000m | 1500m | 2000m |Progression
1 5 EH TE BRI E /R 01:52.59(03:52.12| 05:56.76 | 08:04.45| -> SF A/B
2 3 KA #&E |74 Y AF—r~<]01:53.04|03:53.96 05:58.89]08:07.13| ->SF A/B
3 2 A HEF AL HAE D 01:56.44(04:01.63| 06:08.77| 08:15.05 ->R
4 4 EE ek b = 01:57.48 (04:00.73 06:09.01 | 08:16.67 ->R
5 1 ER thETF Ty — 01:58.61(04:04.9806:12.52|08:19.89 -> R
6 6 wH KB BEfeHEXF 01:59.89(04:05.19(06:14.60 08:27.37 ->R
L —X No. 14
LW1X BB 15:10
JNEfRL L—v EF 777 500m | 1000m | 1500m | 2000m | Progression
1 5 ‘B RTF FazBgEE 01:56.57 [ 03:55.36| 05:58.23 [ 08:05.16| -> SF A/B
2 4 A HEF R HE D 01:58.81(04:01.66|06:06.18|08:10.94| ->SF A/B
3 6 Tk B BEAAE 02:01.20( 04:05.39] 06:07.09|08:12.14| -> SF A/B
4 3 BHE EtE BfEXFE 02:00.25(04:04.52(06:10.91 | 08:15.95 ->FC
5 2 ER #HEF A 01:58.33(04:04.70| 06:14.19] 08:23.11 ->FC
L —X No. 15
LW1X 24 15:20
[[[=tiva L—> EF 777 500m | 1000m | 1500m | 2000m |Progression
1 4 A B FazgE=E 01:57.77 | 04:00.32 ] 06:05.05| 08:07.79| -> SF A/B
2 3 TH K BfEHEXFE 01:59.34 | 04:02.96 | 06:07.56 | 08:10.20| -> SF A/B
3 2 my ZER BEEXERZE 01:58.33(04:03.87 | 06:08.64 [ 08:11.19| -> SF A/B
4 5 EE TERE N 01:59.94( 04:06.02| 06:09.75| 08:14.07 ->FC
5 6 Bt 181K RESE N 02:00.21 [ 04:07.29]06:13.88 ] 08:18.41 ->FC
6 1 wH KB BEReHEXF 02:03.13(04:11.60| 06:20.99 | 08:33.60 ->FC




HARKFERERLEE L —X (2019438231)

L —X No. 20
LW1X AEREABL 9:00
[[[=tiva L—> EF 777 500m | 1000m | 1500m | 2000m |Progression
1 1 2H TE BEFE /vE 01:55.54(03:56.04 | 05:59.82 1 08:01.01 -> FA
2 4 AR &#== AR BHE D 01:55.75(03:56.55 05:59.46 | 08:02.36 -> FA
3 3 =5 xE BAKRE 01:57.16(03:59.76 | 06:03.86 | 08:08.26 -> FA
4 5 B BT AL BEHE 01:57.37(04:01.43|06:08.71 ] 08:16.04 ->FB
5 6 TE B BRKF 02:00.73(04:06.57 | 06:15.32] 08:22.08 ->FB
6 2 TH BE BERgHEXF 02:00.47( 04:06.36| 06:15.68 | 08:23.85 ->FB
L —X No. 21
LW1X AERPSAB2 9:10
[[[=Civ L= NS 977 500m | 1000m | 1500m | 2000m |Progression
1 5 KA #¥= |74V R*F—+r~|01:53.53|03:55.49 | 06:01.88| 08:02.65 -> FA
2 4 L BEX A e 01:55.98(03:57.00| 06:00.77] 08:03.04 ->FA
3 3 An B KT 01:58.22 [ 04:00.66 | 06:04.44 1 08:08.66 ->FA
4 2 A B FazgE=E 02:00.58 [ 04:05.57 [ 06:09.32 | 08:13.75 -> FB
5 6 A HEF R HAE D 01:58.67(04:04.43106:11.94| 08:23.73 ->FB
6 1 ms ZERK AN N=a 02:00.08 [ 04:08.52| 06:18.07 | 08:25.54 ->FB
ARRKEBRKEEL — X (2019£3824H)
L —X No. 28
LW1X FREsC 9:10
[[=Civa L—> EF 077 500m | 1000m | 1500m | 2000m |Progression
1 4 EE TERE FRKF 02:00.87(04:07.35] 06:15.92 | 08:29.05
2 2 ER #HEF F— 02:01.63(04:09.88|06:21.65| 08:34.15
3 5 BHE PhE BfEEXFE 02:03.67(04:12.02| 06:23.88 | 08:36.26
4 3 Bt &K RERE D 02:06.12(04:16.51 | 06:29.82| 08:44.96
5 6 WmH KET BREEKRY 02:05.59 | 04:16.93| 06:31.26 | 08:47.24
L —X No. 30
LW1X RESB 9:30
JNEfRL L—v EF 777 500m | 1000m | 1500m | 2000m | Progression
1 6 ma  ZERK BEEXEKRFE 02:00.98 ( 04:05.22|06:12.34] 08:19.14
2 4 A HEF R HE D 02:01.33(04:06.17|06:13.75| 08:20.45
3 5 ZH BE BERgHEXF 02:02.52(04:05.59(06:12.8508:20.81
4 3 TE BESH BRKXF 02:03.20(04:08.98 | 06:16.04 | 08:22.50
5 2 B BT a4 B88E |02:00.70]|04:04.18|06:14.95( 08:25.91
L —X No. 36
LW1X REEA 10:30
[[[=tiva L—> EF 777 500m | 1000m | 1500m | 2000m |Progression
1 4 E2H TE REFE /K 01:53.47(03:50.09 | 05:49.4007:48.30
2 3 KA &= TAY XA —<]01:52.64]03:52.07(05:51.74 | 07:49.22
3 5 R E#==7F R HAE D 01:55.22(03:53.56 | 05:51.47| 07:50.20
4 6 L BE=X F) — 01:55.53(03:55.09| 05:55.08| 07:54.50
5 1 =58 X R KF 01:56.63(03:58.6505:59.39| 08:01.07
6 2 An B RV N 01:58.55(04:02.93 06:05.11 | 08:09.20




